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The College Board iV a miVVion-driYen not-Ior-SroƮt organi]ation that connectV VtXdentV
to college VXcceVV and oSSortXnit\. )oXnded in 1�00� the College Board ZaV created to
exSand acceVV to higher edXcation. Toda\� the memEerVhiS aVVociation iV made XS oI
oYer ��000 oI the ZorldoV leading edXcation inVtitXtionV and iV dedicated to Sromoting
excellence and eTXit\ in edXcation. (ach \ear� the College Board helSV more than VeYen
million VtXdentV SreSare Ior a VXcceVVIXl tranVition to college throXgh SrogramV and
VerYiceV in college readineVV and college VXcceVVtinclXding the 6AT� and the AdYanced
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ACCUPLACER Arithmetic 
Sample Questions 
The Next-Generation Arithmetic Slacement teVt iV a comSXter adaStiYe aVVeVVment
oI teVt-taNerVo aEilit\ Ior Velected mathematicV content. 4XeVtionV Zill IocXV on
comSXtation� order oI oSerationV� eVtimation and roXnding� comSaring and ordering
YalXeV in diƬerent IormatV� and recogni]ing eTXiYalent YalXeV acroVV IormatV. ,n addition�
TXeVtionV ma\ aVVeVV a VtXdentoV math aEilit\ Yia comSXtational or ưXenc\ VNillV�
conceStXal XnderVtanding� or the caSacit\ to aSSl\ mathematicV SreVented in a context.
All TXeVtionV are mXltiSle choice in Iormat and aSSear diVcretel\ �Vtand alone� acroVV the
aVVeVVment. The IolloZing NnoZledge and VNill categorieV are aVVeVVed�

��:hole nXmEer oSerationV
��)raction oSerationV
��'ecimal oSerationV
��3ercent
��NXmEer comSariVonV and eTXiYalentV
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1A. 6 

1B. 60 

6C. 10 

6D. 100 

 

 

 
 
 
 

A. 48
B. 108 
C. 422
D. 432 

 

 

 
 
 
 

 

 
 
 
 

 

 

 
 
 
 

  
  
 
 
 

 

 
 
 
 

 
 
 
 
 

 
 
 
 
 

 
 
 
 
 

Sample Questions
Choose the best answer. If necessary, use the paper you 6. 8 10  , 2.28,  , 0.199 3 12 
were given. What number in the list above has the greatest value?

1. Which of the following fractions is equal to 0.06? 8A. 3
B. 2.28

10C. 12 
D.  0.199 

2. A club has 36 members. If each member donates
12 items for an auction, how many items will there be in
the auction?

4 3+ 10 1003. What is the value of ? 
43A. 100 

43B. 110 
7C. 10 

7D. 110 

4. A conference planner has put together 280 binders for
attendees and another 31 binders for presenters. How
many total binders did the planner put together for
attendees and presenters?
A. 211 
B. 249
C. 311 
D. 590 

5. A store stocked 150 cans of popcorn for a weekend sale.
That weekend, 72 of the cans sold. What percent of the
cans of popcorn stocked were sold that weekend?
A. 2%
B. 5% 
C. 48%
D. 72%

7. If Manuel deposits 25% of $130 into a savings account,
what is the amount of his deposit?
A. $5.20
B. $25.00
C. $32.50 
D. $97.50 

8. What is 1,582 + 761? 
A. 1,119 
B. 1,243 
C. 1,343 
D. 2,343

9. Xiaoming is making cookies. Each batch of cookies uses
3 eggs. If Xiaoming has 20 eggs, and assuming he has
enough of the other ingredients to make the cookies,
what is the greatest number of batches that he can
make?
A. 3
B. 6
C. 7
D. 17 

10. What is the value of 3.85 + 0.004 + 0.117? 
A. 3.9611 
B. 3.961 
C. 3.971 
D. 5.06

8
2511. Which of the following is equivalent to ? 

A. 0.02
B. 0.32 
C. 0.825
D. 3.125 

12. What is the remainder when 599 is divided by 9?
A. 0
B. 5
C. 6
D. 9
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13. A machine is currently set to a feed rate of 5.921 inches
per minute (IPM). The machinist changes this setting to
6.088 IPM. By how much did the machinist increase the
feed rate?

19. Which of the following inequalities is true?
3 5A. <4 7
2 5B. >3 6 
5 6C. > 8 10 
4 2D. <5 9 

A. 0.167 IPM 
B. 1.167 IPM 
C. 1.833 IPM
D.  1.967 IPM

14. 30.075, 0.75%,  4
20. Carole works at a bookstore and a restaurant. In aWhich of the following correctly orders the values

above from least to greatest? 28-day period, Carole worked 1 
4  of the days at the

1
14

3A. 0.75%, 0.075,  4
3B. 0.75%, , 0.0754

3C. , 0.75%, 0.0754
3D.  0.075, 0.75%,  4 

bookstore and did not work  of the days. On the 

remaining days Carole worked at the restaurant. How 
many days did Carole work at the restaurant during the 
28-day period?
A. 25
B. 19 
C. 10 
D.  915. What is the value of 2.84 × 3.9?

A. 3.408
B. 11.076
C. 34.08
D.  110.76

 

 

16. What is 0.8637 rounded to the nearest hundredth?
A. 0.86
B. 0.863
C. 0.864
D.  0.87

17. 60% of what number is equal to 30?
A. 0.5
B. 2
C. 18 
D.  50

18. If 4 1  ÷     =  p3 6 , then the value of p is between which of the
following pairs of numbers?

A. 3 and 4
B. 5 and 6
C. 6 and 7
D.  7 and 9
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Answer Key
1. D 

2. D 

3. A

4. C 

5. C 

6. A

7. C 

8. D 

9. B 

10. C 

11. B 

12. B 

13. A

14. A

15. B 

16. A

17. D 

18. D 

19. C 

20. B 



ACCUPLACER Next-Generation Arithmetic © 2017 The College Board. 

  
  

 

  
 

      
 
 

 
 

  

 

 
 
 

 

  
 

   
 

 
 

 
 

 

  
       

 
 

  
 

 
 

  

Rationales 
1. Choice D is correct. The nXmEer 0.06 iV the Vame aV Vix-hXndredthV� Zhich Zhen

6
100Zritten aV a Iraction iV . Choice A iV incorrect EecaXVe 16

  iV eTXiYalent to _
one-Vixth� or 0 166. . Choice B iV incorrect EecaXVe 1 

60  iV eTXiYalent to one-Vixtieth� or
_

0.0166. Choice C iV incorrect EecaXVe 6 
10  iV eTXiYalent to Vix-tenthV� or 0.6.

2. Choice D is correct. To Ʈnd the total nXmEer oI itemV� mXltiSl\ the total nXmEer
oI memEerV E\ the nXmEer oI itemV each memEer Zill donate. ThiV iV reSreVented
E\ 36 × 12 = 432. Choice A iV incorrect EecaXVe thiV reVXltV Irom adding inVtead oI
mXltiSl\ing. Choice B iV incorrect EecaXVe a mXltiSlication error ZaV made. ThiV
reVXltV Irom not XVing a Slaceholder ]ero or Zriting the nXmEerV Vtarting in the
tenV Slace Zhen mXltiSl\ing the Vecond digit. Choice{C iV incorrect EecaXVe a
mXltiSlication error ZaV made. ThiV reVXltV Irom maNing an error Zhen carr\ing Irom
the oneV digit to the tenV digit.

4 3 + 10 100
40 3+ 100 1003. Choice A is correct. The expression  can Ee reZritten aV ,� Zhich iV 

eTXal to 43 
100 . Choice B iV incorrect EecaXVe it reVXltV Irom comEining the nXmeratorV 

to create a tZo-digit nXmEer and adding the denominatorV. Choice C iV incorrect
EecaXVe it reVXltV Irom adding the nXmeratorV and XVing the denominator oI the
ƮrVt nXmEer in the VXm. Choice ' iV incorrect EecaXVe it reVXltV Irom adding the
nXmeratorV and denominatorV VeSaratel\.

4. Choice C is correct. The total nXmEer oI EinderV the Slanner SXt together Ior
attendees and presenters is 280  +  31  =  311. Adding the oneV Slace (0  +  1) reVXltV in
the digit 1� adding the tenV Slace (8 + 3) reVXltV in the nXmEer 11� Zhich VhoXld Ee
recorded aV a 1 in the tenV Slace and a 1 carried to the hXndredV Slace� then adding
the hXndredV Slace (2  +  1) reVXltV in the digit 3. Choice A iV incorrect. ThiV anVZer
reVXltV Irom not carr\ing a 1 to the hXndredV Slace aIter adding the tenV Slace.
Choice B iV incorrect. ThiV anVZer iV the reVXlt oI VXEtracting the SreVenter EinderV
Irom the attendee EinderV. +oZeYer� the total nXmEer oI EinderV Zill Ee IoXnd throXgh
addition� not VXEtraction. Choice ' iV incorrect. ThiV anVZer reVXltV Irom incorrectl\
adding the nXmEerV.

5. Choice C is correct. 'iYide the nXmEer oI canV Vold E\ the nXmEer oI canV VtocNed
and mXltiSl\ E\ 100 to Ʈnd the Sercent� 72 ÷ 150 × 100 = 48%. Choice{A iV incorrect.
ThiV iV the aSSroximate reVXlt oI diYiding 150 E\ 72. Choice B iV incorrect. ThiV iV the
aSSroximate reVXlt oI diYiding 72 E\ 15. Choice ' iV incorrect. ThiV iV the nXmEer oI
canV Vold reSreVented aV a Sercent.

6. Choice A is correct. The Iraction 83  is greater than 1 EecaXVe the nXmerator iV larger

less than 1. The Iraction can Ee conYerted to a mixed nXmEer8
3  

than the denominator. ThiV maNeV it greater than choice C or choice '� Zhich are Eoth
2

 (2 3 )  or decimal

8 
3

(aSSroximatel\ 2.66) E\ diYiding 8 E\ 3. ThiV maNeV it eaVier to comSare choice A to

the other choiceV. ChoiceV B� C� and ' are incorrect EecaXVe 

2.66) is greater than 2.28� 10 
12 � and 0.199.

(or aSSroximatel\

5 
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7. Choice C is correct. To Ʈnd 25% of $130.00� mXltiSl\ �130.00 E\ 0.25� Zhich iV �32.50.
Choice A iV incorrect EecaXVe �5.20 is 4% of $130� Zhich reVXltV Irom diYiding 
E\ 25. Choice B iV incorrect EecaXVe �25.00 iV aSSroximatel\ 19% of $130� Zhich
ma\ Ee the reVXlt oI miVXnderVtanding 25% to Ee �25. Choice ' iV incorrect EecaXVe
$97.50 is 75% of $130� Zhich iV not the amoXnt that Zill go into the VaYingV accoXnt.

8. Choice D is correct. 1�582  +  761  =  2�343. ChoiceV A� B� and C are incorrect. Choice A
reVXltV Irom adding and carr\ing Irom leIt to right inVtead oI right to leIt. Choice B iV
incorrect EecaXVe no nXmEerV are carried to the next Slace YalXe. Choice C iV
incorrect EecaXVe the 1 Irom the hXndredV Slace iV not carried to the thoXVandV Slace.

9. Choice B is correct. ,I ;iaoming haV 20 eggV� and each Eatch oI cooNieV XVeV 3
eggV� the nXmEer oI EatcheV can Ee IoXnd E\ diYiding 20 E\ 3. ThiV doeV not diYide
eYenl\� Vo the nXmEer VhoXld Ee roXnded doZn to 6 EecaXVe ;iaoming doeV not haYe
enoXgh eggV to maNe 7

3 × 3(  eggs)
 EatcheV (7  ×  3  =  21). Choice A iV incorrect EecaXVe 3 EatcheV

ZoXld XVe onl\ 9 eggs . ThiV meanV that ;iaoming ZoXld haYe 11 eggs
leIt� Zhich iV enoXgh to maNe more EatcheV. Choice C iV incorrect EecaXVe 7 EatcheV
ZoXld XVe 21 eggs (3  ×  7  =  21)� EXt ;iaoming haV onl\ 20 eggV. Choice ' iV incorrect
EecaXVe 17 EatcheV ZoXld XVe 51 eggs � EXt ;iaoming haV onl\ 20 eggV.

10. Choice C is correct. 8Ving the Vtandard algorithm� the VXm oI the thoXVandthV
SlaceV (7  +  4) is 11� Vo a 1 VhoXld Ee recorded in the thoXVandthV Slace and a 1 carried
to the hXndredthV Slace. The VXm oI the hXndredthV SlaceV (5  +  0  +  1  +  1) is 7� the VXm
oI the tenthV SlaceV iV 9� and the VXm oI the oneV SlaceV iV 3. ThiV reVXltV in 3.971.
Choice A iV incorrect. ThiV reVXltV Irom adding Irom leIt to right and recording an 11
aV the reVXlt oI adding the thoXVandthV SlaceV. Choice B iV incorrect. ThiV reVXltV
Irom not carr\ing the 1 Irom the thoXVandthV Slace to the hXndredthV Slace. Choice '
iV incorrect. ThiV iV the VXm oI 3.85� 0.04� and 1.17.

11. Choice B is correct. The Iraction 8 
25  can Ee Zritten aV 32 

100 � Zhich can Ee interSreted 
aV thirt\-tZo hXndredthV� or 0.32. Choice A iV incorrect. ThiV ma\ Ee the reVXlt oI
diYiding the nXmerator E\ 4 inVtead oI mXltiSl\ing Zhen conYerting to a common
denominator of 100. Choice C iV incorrect. ThiV ma\ Ee the reVXlt oI tr\ing to Iorm
a nXmEer XVing the nXmerator and the denominator oI the Iraction. Choice ' iV
incorrect. ThiV iV the reVXlt oI 25 diYided E\ 8.

12. Choice B is correct. The reVXlt Zhen 599 iV diYided E\ 9 is 66 Zith a remainder oI
5. 0XltiSl\ing 9  ×  66  =  594 and 599  −  594  =  5� Zhich iV the remainder. Choice{A iV
incorrect. ThiV ma\ Ee the reVXlt oI thinNing that 9 diYideV eYenl\ into 599. Choice C
iV incorrect. ThiV ma\ Ee the reVXlt oI determining that 9 goes into 599 Vixt\-Vix timeV
and miVinterSreting the meaning oI thiV nXmEer. Choice ' iV incorrect EecaXVe thiV iV
the diYiVor� not the remainder.

13. Choice A is correct. The amoXnt E\ Zhich the Ieed rate increaVeV iV the diƬerence
EetZeen the Vecond Ieed rate and the ƮrVt Ieed rate. ThiV iV reSreVented E\ 6.088 −
5 921 = 0 167. . . ChoiceV B� C� and ' are incorrect and ma\ Ee the reVXlt oI errorV Zhen
VXEtracting the tZo nXmEerV giYen.

6 
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14. Choice A is correct. To EeVt comSare the nXmEerV� the\ VhoXld Ee SXt in the Vame
Iormat. The Sercent 0.75% can Ee conYerted to a decimal E\ diYiding 0.75 E\ 100�

3
4Zhich giYeV 0.0075. The Iraction  can Ee conYerted to a decimal E\ diYiding 3 E\ 4�

Zhich gives 0 75. . 3lacing theVe nXmEerV in order Irom leaVt to greateVt \ieldV 0.0075�
0.075� and 0.75. ChoiceV B� C� and ' are incorrect EecaXVe none oI them order the

3 4  is greater thannXmEerV Irom leaVt to greateVt. Choice B iV incorrect EecaXVe

0.075. Choice C iV incorrect EecaXVe 34  iV the greateVt YalXe� not the leaVt. Choice '
iV incorrect EecaXVe 0.75% is less than 0.075.

15. Choice B is correct. 8Ving the Vtandard algorithm to mXltiSl\ the tenthV Slace oI 3 9.
E\ 2 84.  reVXltV in 2.556 and then mXltiSl\ing the oneV Slace oI 3.9 E\ 2.84 reVXltV in
8.520� Vince each SrodXct mXVt haYe three SlaceV to the right oI the decimal. The VXm
oI theVe tZo nXmEerV iV 2 556 + 8 520 = 11 076. . . . Choice A iV incorrect. ThiV reVXltV Irom
not XVing a Slaceholder ]ero Zhen mXltiSl\ing the oneV Slace. Choice C iV incorrect.
ThiV reVXltV Irom not XVing a Slaceholder ]ero Zhen mXltiSl\ing the oneV Slace and
incorrectl\ Slacing the decimal Soint in the reVXlting nXmEer. Choice ' iV incorrect.
ThiV reVXltV Irom Slacing the decimal Soint to match the nXmEer oI decimal SlaceV
in 2 84. .

16. Choice A is correct. The Vecond digit to the right oI the decimal Soint iV in the
hXndredthV Slace and the third nXmEer to the right oI the decimal Soint iV in the
thoXVandthV Slace. The nXmEer in the hXndredthV Slace increaVeV E\ 1 Zhen the
nXmEer in the thoXVandthV Slace iV 5 or greater. The nXmEer in the hXndredthV
Slace remainV the Vame iI the nXmEer in the thoXVandthV Slace iV leVV than 5. 6ince
the nXmEer in the thoXVandthV Slace iV leVV than 5� the nXmEer 0 8637.  VhoXld Ee
roXnded doZn to 0.860. Choice B iV incorrect. The nXmEer 0.863 is 0.8637 trXncated
to the thoXVandthV Slace inVtead oI roXnded to the neareVt hXndredth. Choice C
iV incorrect. The nXmEer 0 864 is 0 8637. .  roXnded to the neareVt thoXVandthV Slace
inVtead oI roXnded to the neareVt hXndredth. Choice ' iV incorrect. The nXmEer
0.87 is 0.8637 roXnded XS to the neareVt hXndredth� EXt Vince the nXmEer in the
thoXVandthV Slace iV leVV than 5� the nXmEer VhoXld Ee roXnded doZn.

17. Choice D is correct. Dividing 30 E\ 60%� Zhich iV eTXiYalent to 0.60� giYeV 50. 6o
60% of 50 is 30. ChoiceV A and B are incorrect EecaXVe 60% ZaV not conYerted into
a decimal� and in choice B the diYiVion ZaV done in the Zrong order. Choice C iV
incorrect EecaXVe 30 ZaV mXltiSlied E\ 0.60 inVtead oI diYided.

18. Choice D is correct. The expression 4 1 4 24  ÷ = × 6 = 3 6 3 3  = 8. The nXmEer 8 is 

EetZeen 7 and 9. ChoiceV A� B� and C are incorrect. The TXotient oI the tZo giYen
IractionV iV not EetZeen an\ oI theVe SairV oI nXmEerV.
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 ( 128  × 4 )

6
1019. Choice C is correct. The Iraction 58

  is greater than . :hen XVing a common 

denominator� thiV Vtatement iV eTXiYalent to 25  >  24
40 40 . :hen tZo IractionV haYe

common denominatorV� the Iraction Zith the larger nXmerator iV the larger nXmEer.

Choice A iV incorrect EecaXVe 3 
4 is not less than 57

 . 6hoZn Zritten Zith a common 
denominator� the comSariVon 21 20

28  <  28
  iV not trXe. Choice B iV incorrect EecaXVe

2
3 is not greater than 5 

6 . 6hoZn Zritten Zith a common denominator� the 

comSariVon 4 5   >6  6  iV not trXe. Choice ' iV incorrect EecaXVe 4 
5 is not less than 2 

9 .
 6hoZn Zritten Zith a common denominator� the comSariVon 36 10  

45  <  45  iV not trXe.

20. Choice B is correct. Carole ZorNed 14  of the 28 da\V at the EooNVtore� Vo Vhe ZorNed

7 da\V at the EooNVtore . 6he did not ZorN on 1 
14  oI the da\V� Zhich eTXalV

2 da\V (  
128  ×   
14 ). 6XEtracting theVe amoXntV Irom 28 giYeV the nXmEer oI da\V Vhe

ZorNed at the reVtaXrant (28 − 7 − 2 = 19). Choice A iV incorrect and ma\ Ee the reVXlt
1
14

2
18

1
4oI erroneoXVl\ adding and and Ʈnding  aV the da\V not ZorNed at the

reVtaXrant. 228  − (28  ×   )18  =  25. Choice C iV incorrect and ma\ Ee the reVXlt oI adding

the denominatorV oI the IractionV (14 + 4) and XVing thiV aV the nXmEer oI da\V Carole
did not ZorN at the reVtaXrant. 28 − 18 = 10. Choice ' iV incorrect EecaXVe it iV the
total nXmEer oI da\V Carole ZorNed at the EooNVtore and the da\V Vhe did not ZorN.


